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Linear Fit for: T1-83/84 Plus 3 | L3
L=mL+

m (Slope): -0.05786

b (Y-Intercept): 0.1340
Correlation: -0.9801

RMSE: 0.004555




 
F=-dU/dx

F=-(.133-.0698)/(.106-1.31)=.0524

H1=.018
U=mgh=(7.583)(9.8)(.018)=1.329




H2=.01

U=(7.583)(9.8)(.01)=.738

H3=.005

U=(7.583)(9.8)(.005)=.369

F=-dU/dx

F=-d(mgh)/dx=-d(mgxsinθ)/dx
F=-mgsinθ d(x)/dx = -mgsinθ
W=Fd

W0=-(m)(g)(sinθ)(df)=-(.7583)(-9.8)(.009)(2)=.1337

W0=-(m)(g)(sinθ)(d0)=-(.7583)(-9.8)(.009)(0)=0
Xf-x0=.1337
P=Fv

P0=Fv0=-mgsin(θ)v=-mgsin(θ)(0)=0

Pf=Fvf=.06685v

Vf2=2gΔy
Vf2=2(9.8)(.018)=.3528

Pf=.06685(.3528)=.02359
As the car traveled greater distance the potential energy decreased also as kinetic energy increased.  The values for work and power were accurate although I did encounter trouble at first because I had the mass off one decimal place.
